
REVISED 8/4/2023 

 
INSTALLATION INSTRUCTIONS 

 

Copyright© 2022 by Big Bike Parts, Inc. No part of 
this instruction sheet may be reproduced without 
the written permission of Big Bike Parts, Inc. 

PART NO. 44-106/44-106BK 

DESCRIPTION: FLAG POLE – NON-FOLDING 

ESTIMATED INSTALLATION TIME: 10 TO 15 MIN FITMENT: POLARIS SLINGSHOT 2015 – NEWER  

TOOLS NEEDED: REMOVABLE THREAD LOCK 4MM ALLEN WRENCH T40 TORX   

INCLUDED: FLAG MOUNT (1X) FLAG POLE ASSEMBLY (1X) U.S. FLAG (1X) M6 FLAT WASHER (2X) M6-1.0X16MM SCREW (2X) 

EXTRA ITEMS 
(NOT NEEDED): 

N/A     

PLEASE READ THROUGH AND UNDERSTAND THESE INSTRUCTIONS BEFORE BEGINNING. *USE REMOVABLE THREAD LOCK ON ALL FASTENERS* 

INSTALLATION: 
1. ASSEMBLE THE FLAG ONTO THE FLAG POLE BY REMOVING THE RUBBER O-RING FROM THE FLAG POLE AND SLIDING THE FLAG ONTO THE BOTTOM 

OF THE FLAG POLE WITH THE RUBBER O-RING REINSTALLED UNDER THE FLAG TO HOLD IT FROM SLIDING DOWN (FIG. 1). 
2. USE A 4MM ALLEN WRENCH TO INSTALL THE FLAG POLE ONTO THE FLAG MOUNT USING THE TWO M6 FLAT WASHERS AND M6-1.0X16MM LONG 

BUTTON SOCKET HEAD SCREW ACCORDING TO FIG. 1 USING REMOVABLE THREAD LOCK ON THE HARDWARE. NOTE: BE SURE FLAG POLE FOLDS 
FORWARD TOWARDS THE MOUNT BEFORE TIGHTENING COMPLETELY.  

3. USING A T40 TORX, REMOVE THE SCREW FROM THE BACK SIDE OF THE ROLL HOOP TRIM (FIG. 2). THIS SCREW WILL NOT BE REUSED. NOTE: THIS 
FLAG POLE CAN BE MOUNTED IN ANY OF THE 4 SCREW LOCATIONS ON THE BACK SIDE OF THE ROLL HOOP TRIM. 

4. INSTALL THE FLAG POLE ASSEMBLY TO THE REAR OF THE ROLL HOOP WHERE YOU REMOVED THE SCREW IN STEP 1 USING THE M6-1.0X16MM 
LONG BUTTON SOCKET HEAD SCREW AND A 4MM ALLEN WRENCH (FIG. 3). 

 

   

 

 

 

   

 


